85 pence 75 pence

£7 and
36 pence

I spent £9 and 50 pence. I spent more than Grace.

My shopping is in : My shopping is in

I spent less than Grace.

My shopping isin

2) Find the total amount of money.

a)

£3 and 64 pence

b)

£6 and 17 pence

£8 and 94 pence




Challenge

3) Chester bought a drink and a cupcake from the café.

His bill came to £4 and 94 pence.

My bill is not correct.

,--::-T_-‘\;.

£2 and
45 pence

£2 and
75 pence

£1 and
99 pence

Do you agree with Chester? Explain your reasons.




Challenge answers

1) Bag A = £9 and 14 pence
Bag B = £9 and 60 pence
Bag € = £9 and 50 pence.

Grace = Bag €
Polly = Bag B
Finn = Bag A

2) a) £5and 59 pence
b) £15 and Il pence

3) chester's bill cannot be correct. If he had tea and a cupcake, the total would be £5 and 20 pence. If he had orange juice
and a cupcake, the total would be £4 and 44 pence.



